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Roll No……........ 

B.A. (Part-1) (New Course) 

Examination 2012 

EC-04 

Uttarakhand Economy 

mRrjk[k.M dh vFkZO;oLFkk 

Time: 3 Hours                                                                         Max Marks: 60 

le;&3 ?kaVs            iw.kkZad &60 

Note: The question paper is divided into three sections A, B and C  

uksV& ;g iz’u i= d] [k ,oa x rhu [k.Mksa esa foHkkftr gS A izR;sd [k.M ds 
funsZ’kkuqlkj iz’uksa dk mRrj nsaA 

Section A/  [k.M&d 

(Long Answer’s Question) 

nh/kZ mRrjh; iz’u 

Note: Answer any two questions. Each question carries 15 marks.      

2X15=30 

uksV& fdUgha nks iz”uksa ds mRrj nhft;sA izR;sd iz”u 15 vad dk gSA 

(1) Discuss the role of tourism in the economy of Uttarakhand? 

mRrjk[k.M dh vFkZO;oLFkk esa Ik;ZVu ds egRo dh O;k[;k dhft;sA 

(2) Explain challenges and opportunities of small and village 

industry in Uttarakhand? 

mRrjk[k.M ds y?kq vkSj xzkeh.k m|ksxksa dh dfBukb;ksa ,oa voljksa dh O;k[;k dhft;sA  

(3) Explain Eleventh five year plan in context of Uttarakhand? 

mRrjk[k.M dh 11oha iapo’khZ; ;kstuk dh O;k[;k dhft;sA  
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(4) What do you mean by land reforms? Explain its role on the 

development of agricultural sector of Uttarakhand? 

Hkwfe lq/kkj ls vki D;k le>rs gSaA mRrjk[k.M ds Ñf’k {ks= ds fodkl eas Hkwfe lq/kkj dh 
O;k[;k dhft;sA  

 

Section B/  [k.M&c 

(Short Answer’s Question) 

Yk?kq mRrjh; iz’u 

Note: Answer any four questions. Each question carries 05 marks.    

4X5=20 

uksV& fdUgha pkj iz”uksa ds mRrj nsaA izR;sd iz”u 05 vadksa dk gSA  

(1) Define economic planning? 

vkfFkZd fu;kstu dks ifjHkkf’kr dhft;sA  

(2) What are natural resources? How they are useful for 

Uttarakhand economy? 

izkÑfrd lalk/kuksa ls vki D;k le>rs gSaA ;g mRrjk[k.M dh vFkZO;oLFkk ds fy;s fdl 
izdkj ykHknk;d gS 

(3) What do you mean by human resources? 

ekuoh; lalk/kuksa ls vki D;k le>rs gSa O;k[;k dhft;sA  

(4) Define regional imbalance? 

{ks=h; vlkekurk dh O;k[;k dhft;sA  

(5) Explain the role of banking sector in Uttarakhand economy? 

mRrjk[k.M dh vFkZO;oLFkk esa cSafdax {ks= ds egRo dh O;k[;k dhft;sA  

(6) Explain latest industrial policy of Uttarakhand? 

mRrjk[k.M dh orZeku vkS|ksfxd uhfr dh O;k[;k dhft;sA 
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(7) What is white revolution? 

“osr Økafr ls vki D;k le>rs gSaA 

(8) Explain new agricultural strategies? 

uohu Ñf’k dh j.kuhfr;ksa dh O;k[;k dhft;sA  

 

Section C/[k.M&l 

Objective Type Question (Compulsory) 

oLrqfu’B iz’u ¼vfuok;Z½ 

Note: Answer all questions. Each question carries 01 mark.          

        1X10=10 

uksV& lHkh iz”uksa ds mRrj nhft;sA izR;sd iz”u 1 vad dk gSA  

Choose the Correct Answer. 

lgh fodYi pqfu;s& 

(1)  Percentage of forest in Uttarakhand 

       (a) 40   (b) 50 (c) 65 (d) None 

mRrjk[k.M esa taxyksa dk izfr”kr 

     (a) 40   (b) 50 (c) 65 (d) dksbZ ugha 

(2)  Population of Uttarakhand in 2011was approximately 

       (a) 100 lakh   (b) 101 lakh (c) 102lakh (d)120 

2011 esa mRrjk[k.M dh tula[;k yxHkx fdruh Fkh& 

      (a) 100 lakh   (b) 101 lakh (c) 102lakh (d)120 

(3)  Sex ratio of Uttarakhand in 2011 

       (a) 952   (b) 963 (c) 970 (d) None 

2011 esa mRrjk[k.M dk fyaxkuqikr  

      (a) 952   (b) 963 (c) 970 (d) dksbZ ugha 

(4)  Contribution of primary sector in GDP                             

       (a)  10% (b) 15% (c) 20% (d) 25% 
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Tkh0Mh0ih0 esa izkFkfed {ks= dh fgLlsnkjh  

      (a) 10% (b) 15% (c) 20% (d) 25% 

 (5) Industrial growth rate of Uttarakhand is                             

       (a) 8.3% (b) 9.1% (c) 9.6% (d) None 

Write True/False against the following. 

mRrjk[k.M dh vkS|ksfxd fodkl nj & 

(a) 8.3% (b) 9.1% (c) 9.6% (d) dksbZ ugha 

fuEufyf[kr ds lkeus lgh xyr fyf[k;sA  

Write True/False against the following. 

(6)  State is providing direct and indirect eco-system services to the tune of 

Rs.10,000 crore to the country .              True/False 

mRrjk[k.M jkT; izR;{k vkSj vizR;{k :Ik ls jk’Vª dks nl gtkj djksM+ ykxr dh bZdks flLVEk lsok;sa 
iznku dj jgk gSA        lgh@xyr 

(7) Maximum number of farmer sin Uttarakhand is having small land holdings. 

                          True/False  

mRrjk[k.M ds vf/kdka”k Ñ’kdksa ds ikl NksVh tksrsa ik;h tkrh gSaA          lgh@xyr 

(8) Total outlay proposed for the year 2011-12 was Rs. 7554 crore 

approximately.           True/False 

2011&12 esa dqy izLrkfor [kpZ 7554 djksM+ :Ik;s fu/kkZfjr fd;k gSA  lgh@xyr 

(9) Majority of urban population is concentrated in Udhamsinghnagar district 

of Uttarakhand.               True/False 

mRrjk[k.M dh vf/kdka”k “kgjh tula[;k m/keflag uxj ftys esa fuokl djrh gSA   
               lgh@xyrA 

   (10)  Drinking water and bridges are part of thrust areas of annual plan 2011-12 

                  True/False 

2011&12 dh okf’kZd uhfr ds vUrxZr is;ty lqfo/kkvksa vkSj ckW/kksa dks fof”k’V egRo fn;k x;k gSA  
               lgh@xyrA  


